
Wykresy momentów gnących i sił tnących - przykłady elementarne: 

 

 

                  Reakcje więzów: 

∑ 𝑀𝐴 = 0 → 𝑅𝐵 ∙ 𝐿 = 𝑃 ∙ 𝑎 → 𝑅𝐵

= 𝑃
𝑎

𝐿
 

∑ 𝑀𝐵 = 0 → 𝑅𝐴 ∙ 𝐿 = 𝑃 ∙ 𝑏 → 𝑅𝐴

= 𝑃
𝑏

𝐿
 

 

0 ≤ 𝑥1 ≤ 𝑎 

𝑀𝑔𝑥1
= 𝑃

𝑏

𝐿
∙ 𝑥1                                              

𝑀𝑔𝑥1|𝑥1=0 = 0 ;  𝑀𝑔𝑥1|𝑥1=𝑎 = 𝑃
𝑎 ∙ 𝑏

𝐿
      

𝑇𝑥1
= 𝑃

𝑏

𝐿
= 𝑐𝑜𝑛𝑠𝑡.                                      

 

0 ≤ 𝑥2 ≤ 𝑏 

𝑀𝑔𝑥2
= 𝑃

𝑎

𝐿
∙ 𝑥2                                              

𝑀𝑔𝑥2|𝑥2=0 = 0 ;  𝑀𝑔𝑥2|𝑥2=𝑏 = 𝑃
𝑎 ∙ 𝑏

𝐿
      

𝑇𝑥2
= 𝑃

𝑎

𝐿
= 𝑐𝑜𝑛𝑠𝑡.                                      

 

 



 

              Reakcje więzów: 

 

∑ 𝑀𝐴 = 0 → 𝑅𝐵 ∙ 𝐿 = 𝑀 → 𝑅𝐵

=
𝑀

𝐿
 

∑ 𝑀𝐵 = 0 → 𝑅𝐴 ∙ 𝐿 = 𝑀 → 𝑅𝐴

=
𝑀

𝐿
 

 

0 ≤ 𝑥1 ≤ 𝑎 

𝑀𝑔𝑥1
= −

𝑀

𝐿
∙ 𝑥1                                              

𝑀𝑔𝑥1|𝑥1=0 = 0 ;  𝑀𝑔𝑥1|𝑥1=𝑎 = −𝑀
𝑎

𝐿
         

𝑇𝑥1
= −

𝑀

𝐿
= 𝑐𝑜𝑛𝑠𝑡.                                      

0 ≤ 𝑥2 ≤ 𝑏 

𝑀𝑔𝑥2
=

𝑀

𝐿
∙ 𝑥2                                              

𝑀𝑔𝑥2|𝑥2=0 = 0 ;  𝑀𝑔𝑥2|𝑥2=𝑏 = 𝑀
𝑏

𝐿
         

𝑇𝑥2
= −

𝑀

𝐿
= 𝑐𝑜𝑛𝑠𝑡.                                      

 

 



 

              Reakcje więzów: 

𝑅𝐴 = 𝑅𝐵 =
1

2
𝑞𝑥2 

 

0 ≤ 𝑥 ≤ 𝐿 

𝑀𝑔𝑥 =
𝑞𝐿

2
∙ 𝑥 −

1

2
𝑞

∙ 𝑥2                                

𝑀𝑔𝑥|
𝑥=0

= 0  ;   𝑀𝑔𝑥|
𝑥=𝐿

= 0                      
 

𝑇𝑥 =
1

2
𝑞𝐿 − 𝑞𝑥                                             

𝑇𝑥|𝑥=0 =
1

2
𝑞𝐿    ;    𝑇𝑥|𝑥=𝐿 = −

1

2
𝑞𝐿        

 
1

2
𝑞𝐿 − 𝑞𝑥0 = 0 →  𝑥0 =

1

2
𝐿                   

𝑀𝑔𝑥|
𝑥=

1
2

𝐿
=

𝑞𝐿2

4
−

𝑞𝐿2

8
=

𝑞𝐿2

8
                  

 

 



 

 

 

0 ≤ 𝑥 ≤ 𝐿 

 

𝑀𝑔𝑥 = − 𝑃 ∙ 𝑥                                  

 

𝑀𝑔𝑥|
𝑥=0

= 0                                     

 

𝑀𝑔𝑥|
𝑥=𝐿

=  −𝑃𝐿                              

 

𝑇𝑥 = 𝑃 = 𝑐𝑜𝑛𝑠𝑡.                             
 

 

 

 

 

 

 

 

 

 

 

 

0 ≤ 𝑥 ≤ 𝐿 

 

𝑀𝑔𝑥 = 𝑀 = 𝑐𝑜𝑛𝑠𝑡.                                   

 

𝑇𝑥 = 0                                                         



 

 

 

0 ≤ 𝑥 ≤ 𝐿 

 

𝑀𝑔𝑥 = − 
1

2
𝑞𝑥2                                    

 

𝑀𝑔𝑥|
𝑥=0

= 0                                         

 

𝑀𝑔𝑥|
𝑥=𝐿

=  −
1

2
 𝑞𝐿2                           

 

𝑇𝑥 = 𝑞𝑥                                                 
 

𝑇𝑥|𝑥=0 = 0    ;   𝑇𝑥|𝑥=𝐿 = 𝑞𝐿            
 

 
 


